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MODEL QUESTION PAPER (TERM - 2)
CLASS - +2
SUBJECT - ACCOUNTANCY

Time : 3 hours M.M. : 50

| (General) fa9T ;-

1. |t o srfer 7
All Question are compulsory.

2. WY UF T UZEH U 20 Sgfaehedta qgl @ S ¥
whanst ¥ faw U faeredt § @ frdt T fenow
3T Ik &Y H I L |
Question no 1. of the question paper consits 20
mutiple choice questions. Candidate are required

to choose any correct choice to give their answer
from the given choice of answers.

3. Teh Ul WAl o HHM sifeRa ferw T E

Markes alloted to each questions are indicated

against it.
1. &l forere Mw_.m :
(i)  ererenfaen = 9 grar §
(a) == (b) @
(c) =™ (d) 3w g+t

Shareholder’s get

(@) Interset (b) Dividend

(c) Profit (d) All of the above
stot W stfersham Wifere feran s weran ®
@ 5% (b) 10%

() 15% (d) =hrs drmr &l

Maximum Limit of securities Premium on
share is :

@ 5% (b) 10%
(€ 15% (d) No Limit

(iii) ST SPEN o qH: TEE o o1g 379 ST9eRd @rd o

I gEAARa foha < §
(@) YSiTd "= (b) W HeE
() TEATUSt (d) SR § &g Tl

The balance of ‘Share Forfeiture A/c’ after the
reissue of for feited share is transferred to:

Capital Reserve

Reserve Capital

(@)

(b) General Reserve
()

(d) None of the above
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(iv) THan Soer e €

(a) <TRR (b) E=TeTR

(c) ot (d) TmreH
Equity Shareholders are :

(@) Creditor (b)  Directors
() Owner (d)  Customers

(v) TS A=Al T lfetehl T o STIHR SATS &t <X g1

@ 5% (b) 10%

(c) 6% (d) 12%

Interest on calls in advance according ‘Table
F’ will be

(@ 5% (b) 10%

(c) 6% (d) 12%

(vi) RO Wi R

(a) =it 31afYy o1 R
(b) st < fafwm
(c) Hdmel g 3TCH
(d) =T 9§ FE TS

Debentures represent

(@) Long term Loans

(b) Investment by shareholders
(c) contribution by directors

(d)  None of the above

A
(b)  fEl we T R H

(c) ura fauai ®

(d) e o=l |

Convertible debentur can be converted into
(@) Cash

(b) Shares and new Debentures

(c) Bill Receivable

(d) Promissory note

(viii) T A F BT
(@) R (b) wEm
(c) TmeH (d)  smyfeiepat
Debentureholder’s are the ............. of the
company
(@) Creditors (b) owners
(c) customers (d)  Supplier

A RE IR ICERCE S RsC o

(@) & 3l HoTeEl 1 Fifha e
(b) ifed ol § &
(c) ¥MeA & fau fohT T SIS 9
(d) ST =R Y
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Debentures can be redeemed out of If the current Ratio 2:1 and the value of current
(@) By issuing new shares/debentures liabilities is Rs 15,000 Than what will be the
(b) Accumulated profits value of current assets
(c) Provision made for redumption (@) 20,000 (b) 40,000
(d) All of the above () 15,000 (d) 30,000
(x) T % BT % TG A ATl @ § (xiii) f=1 & 9§ fope s1uma 1 wfawrd & et foman e &
(@) ST oY (c) Ustrma @y (a) Toramfieran sTU (b)  SITEHeH
(c) =AMk v (d) H=me oy (c) Y Yedl U (d)  eAar $TgUd
Profit on cancellation of own debentures is Which of the following ratios are express in
(@) Revenue Profit (b) Capital Profit percentage
(c) Trading Profit (d) Operating Profit (@) Activity Ratio
(xi) 9T HHAT ST § (b) Solvency Ratio
(@) W egud (b)) 9YSd SAU (c) Profitability Ratio
(c) ied &mar erqud(d)  foRamsfierar Tu (d) Liquidty
Debt Equity Ratio is (xiv) STEE T 3T fereT grar ©
(@) Liquidity Ratio (b) Profitability Ratio (@ 12 b) 2:1
(c) Solvency Ratio(d) Acitivity Ratio ) 4:1 d) 1:1
(xii) e =g ST 2:1 SR e AFA F. 15,000 & <A What is ideal Liquid Ratio
e Sl o e o € (@ 1:2 (b) 2:1
(@) 20,000 (b) 40,000 © 4 @ 1

(c) 15,000 (d) 30,000
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(xv) Gl @i fre forg T # a%qa ) et §

a) TEUHI W 99T H
b) HTcTeR! St HT H
) SR o | |
) et @

In which meeting is the directors report
presented:

(
(
(c
(d

(@) Meeting of Managers
(b)  Meeting of Directors
(c) Annual General Meeting

(d) Statutory Meeting

(xvi) =fa sl Tefa foeror # fohe wfie o sT=ia <RI

AT

(@) T gwfaar (b)) = S

(c) %= @ A (d)  fafrm

Goodwill is shown under which heading of
balance sheet.

(@) Fixed Assets

b) Current Assets

Reserve and Surplus

d Investment

(
(©)
(d)

(xvii) a1 faeRo § wnfiet €ran &

a) MR Qrdl
b) @ g @

c) oW - I fSH @

d) ST gt

Income statement include

a) Trading A/c

b) Profit and loss A/c

Profit and Loss Appropriation A/C

(
(
(
(

All of the above

a) ks yare faax

b) e fofad faer

Y garg fererur

HHARET 1 forerom

Which of the following is not the tools of
financial analysis

(@) Cash Flow Statement

(b) Compartive Financial Statement
on_ucsa_u_oémﬁmﬁmBm:ﬁ
av

Employee’s Statement
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(xix) Frt etfufrem &t S o o e % eifwy

@Al e Al B |

(@) &m™-129 (b) =M 133
(c) wmi214 (d)y «m216
Which section of companies Act explain the
final accounts of the company
(@) Section 129 (b) Section 133
() Section214 (d) Section 216

(xx) TH HEar < fosea 6t Ufr ¥, 5,00,000 fosra =t
A E. 3,00,000 T STIAE S F. 50,000 T | Tehed
Y i e fRa gRh
(@) ¥.1,50,000 (b) ¥.2,50,000
(c) ¥.2,00,000 (d) ¥.3,00,000
The sale of a company is Rs 5,00,000 cost of
sale Rs 3,00,000 and the indirect expenses

are Rs 50,000 .What will be the amount of
gross profit

(@ Rs1,50,000 (b) Rs 2,50,000
(c) Rs2,00,000 (d) Rs 3,00,000

2. A ARIEH FN T ? 2

What is Minimum Subsaition ?

3. < fewpEe dive o1 2 &2 2

What is meant by Deep Discount Bond

4,

171 w_f &l Tk et o feerfa foerw § o1 T itedent
% r=ria fewmdd 2
(a) wArd (b) B 3SR

(c) tifayfa Afm  (d) =Fuk %W

Under What heading will you shown the following
items in the balance sheet of a company

(@) Goodwill

(b) Loose Tools

(c) Securities Premium Reserve

(d) Mortgage Loan

qorreres fafear foemor & &9 @1 99ed © 2 2

What do you mean by compartive statement?

Ff =16 AU 5:2 HERAS St ®. 81,000 ¥ @ A
grofeal aem =Te] AU i AT FHIfST | 2
If current Ratio 5:2, working capital Rs 81,000 then
calculate the amount of currrent Assets and current
Liablities

FHUMYS] & INeH i fafa= fafesi ot dfera smen sife |

Explain in brief the various methods for redumption
of Debentures 2

aifeehR ofell o fohdl i Fehrl o1 ool ifSTa |

Explain any three types of Perference Shares. 2




9.

10.

11.
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fafqa foaworn & faveioor & Se¥al &l oviF shifsw| 3

Describe the objectives of Analysis of Financial
Statement

forh BT A1 K ARG . 2,00,000 TheY 3Ed AT 8
T[0T ¥ | WRFETeh Tefaan 3tf=w Tefaan <t 1.5 7o § | yRfEe
9 Af<qq wiad &t 7oA St | 3

Rs 2,00,000 is the cost of goods sold, Inventory
Turnover Ratio is 8 times. Stock at the beginning
is 1.5 times than closing stock. Calculate the
values of opening and closing stock.

T fafies 5 %. 50 Al 10,00,000 10% omas Fffha
forw fSent wTeA 3 9 o 9w=d ®. 20 9Tl HHAT SR
qfterd g foran ST | sRomaEl o fiee o enee areed
gfaftear i 4
Ganga Ltd. issued 10,00,000 10% debentures of
Rs 50 each redeemable after 3 years by converting
the into equity shares of Rs 20 each. Record
necessary journal entires for issue and redumption
of debentures.

Or 31an
MY o ST hi SRS HifeT

Describe the advantages of debentures

12. ofefa fafies 7 ®.10 9t 1,000 3791 Sar 1 ®. 2 9fd

ster -t R fifia o a1 3 . 3 ufa ofw emeeA
R AU . 5 (YifFH Fifegd) 3eied T Fahl fd 7 €2
o A W IR ®. Afam A W AE g e
HTerehi o 3Gk ST 1 201 R ot qen 79 i ®. 8 Ufd
39 qol Fehel o Tedme § g Frifha o foan | 8o o O:
frte & forg s wfaftesr it

Aditi Ltd. issued 1,000 Shares of Rs 10 each to
Reeta at a premium of Rs 2 per share. Reeta had
paid Rs 3 on application Rs 5 (including premium)
on allotment but could not pay Rs 2 on first call
and Rs 2 on final call. The directors forfeited her
shares and reissued to Ram as Rs 8 for fully paid.

Pass Journal entires for for forfeiture and reissue
of shares. 4



